Return from stargazer

Repulsive Force= -5152

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -18

Value Y: 46

received: ~^I16|+84.34|+55.25|+60.99|169.98`

Return from stargazer

Repulsive Force= -4796

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -18

Value Y: 45

received: ~^I16|+84.53|+55.58|+60.89|170.31`

Return from stargazer

Repulsive Force= -4825

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -21

Value Y: 46

received: ~^I16|+84.76|+55.78|+60.67|170.07`

Return from stargazer

Repulsive Force= -5243

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -21

Value Y: 46

received: ~^I16|+84.53|+55.71|+60.76|170.31`

Return from stargazer

Repulsive Force= -5243

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16                                Have Moved my Transmitting Bot to new Position @ ValueX: 31, ValueY:63
Value Y: 51

received: ~^I16|+84.53|+55.73|+60.72|170.31`

Return from stargazer

Repulsive Force= -4393

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 52

received: ~^I16|+84.76|+55.78|+60.67|170.07`

Return from stargazer

Repulsive Force= -4376

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 51

received: ~^I16|+84.53|+55.72|+60.71|170.31`

Return from stargazer

Repulsive Force= -4393

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 51

received: ~^I16|+84.76|+55.73|+60.80|170.07`

Return from stargazer

Repulsive Force= -4393

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -15

Value Y: 51

received: ~^I16|+84.76|+55.79|+60.66|170.07`

Return from stargazer

Repulsive Force= -4252

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -15

Value Y: 50

received: ~^I16|+84.76|+55.72|+60.80|170.07`

Return from stargazer

Repulsive Force= -4271

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 50

received: ~^I16|+84.76|+55.74|+60.76|170.07`

Return from stargazer

Repulsive Force= -4412

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 50

received: ~^I16|+84.76|+55.78|+60.66|170.07`

Return from stargazer

Repulsive Force= -4412

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 49

received: ~^I16|+84.53|+55.67|+60.81|170.31`

Return from stargazer

Repulsive Force= -4433

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 49

received: ~^I16|+84.76|+55.74|+60.75|170.07`

Return from stargazer

Repulsive Force= -4433

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 49

received: ~^I16|+84.18|+55.15|+60.99|169.43`

Return from stargazer

Repulsive Force= -4433

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: -16

Value Y: 49

received: ~^I16|+84.34|+55.26|+61.05|169.98`

Return from stargazer

Repulsive Force= -4456

--------------------------CIRCLE CIRCLE!

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: 31

Value Y: 63

received: ~^I16|+84.34|+55.28|+61.05|169.98`

Return from stargazer

Repulsive Force= 149

xxxxxxxxxxxxxxxxxxxxxxxxxxREPLUSE Straight

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: 31

Value Y: 63

received: ~^I16|+84.53|+55.40|+60.98|170.31`

Return from stargazer

Repulsive Force= 144

xxxxxxxxxxxxxxxxxxxxxxxxxxREPLUSE Straight

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: 31

Value Y: 63

received: ~^I16|+84.53|+55.65|+60.79|170.31`

Return from stargazer

Repulsive Force= 144

xxxxxxxxxxxxxxxxxxxxxxxxxxREPLUSE Straight

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: 30

Value Y: 63

received: ~^I16|+84.34|+55.59|+60.94|169.98`

Return from stargazer

Repulsive Force= 95

xxxxxxxxxxxxxxxxxxxxxxxxxxREPLUSE Straight

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: 30

Value Y: 63

received: ~^I16|+84.18|+54.96|+60.99|169.43`

Return from stargazer

Repulsive Force= 144

xxxxxxxxxxxxxxxxxxxxxxxxxxREPLUSE Straight

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: 30

Value Y: 63

received: ~^I16|+84.34|+55.27|+61.03|169.98`

Return from stargazer

Repulsive Force= 100

xxxxxxxxxxxxxxxxxxxxxxxxxxREPLUSE Straight

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Inside While Loop

Value X: 3
